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M12x85 5/-/-   –
M12x100 20/5/-
M12x115 35/20/- –  
M12x145 65/50/15 –  –
M12x175 95/80/45 – – –
M12x205 125/110/75 – – –
M12x225 145/130/95 –  –
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HSA, HSA-BW, HSA-F
HSA-R, HSA-R2
M12

HSA HSA- HSA-F HSA-R HSA-
  BW   R2

1a 1b

= Ø 12 mm

M12x85 5/-/- 5 – –
M12x100 20/5/- 20 5 –
M12x115 35/20/- 35 20 –
M12x145 65/50/15 65 50 15
M12x175 95/80/45 95 80 45
M12x205 125/110/75 125 110 75
M12x225 145/130/95 145 130 95

HSA [mm]fix1t
[mm]fix2t

[mm]fix3t

hnom [mm] 64 79 114
hmin [mm] 100 140 180
smin [mm] 70 70 70
cmin [mm] 70 65 55

HSA 1 2 3
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